
ESEGUI LE SEGUENTI ESPRESSIONI scheda 2

1. [3 x 11 - (4 + 17)] : [(33 - 31) x 1] =              

2. 2 x 17 - (45 - 34) x (88 : 2 - 41) =              

3. 11 + (53 - 23) : [(9 x 2 - 16) x (96 : 4 - 21)] =              

4. {9 X 9 - [8 + (1 + 4)]} : {[37 - (51 - 16)] x 2} =              

5. 36 : (2 x 1) - [(33 - 14) x 2 – 9 x 4] x 7 =              

6. [3 x 9 - (12 : 4) x 7] x (6 + 3) – 74 : 2 =              

7. 16 : {[4 x (88 : 11) - 30] x [3 x 6 - (10 + 7)]} =              

8. 1 + (36 : 2 – 75 : 55 : 11) x (39 – 19 x 2) =              

9. 48 : {[29 - (6 x 3 + 9)] x 1 + (2 + 28 : 7)} =              

10.51 - {(29 + 70) : [26 - (9 + 14)] - 23} x (1 + 3) =              

11.3 + [98 – 76 : (22 - 20)] : [(1 + 3) x 7 - 23] =              

12.20 + [39 - (76 - 41)] x 2} : {[28 - (19 + 7)] x 1} =              

13.[53 - (9 + 14)] : [(95 - 13) : (38 - 36) - (16 + 19)] =              

14.4 + 50 : {[(35 + 23) : 2 - 16] x 4 -7 x 6} =              

15.52 - [(93 - 23) : 2 - (74 : 2 – 66 : 3)] x 2 =       


